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�������������������������� Monge ��� ���

Monge �������������	���������
���

1.1 ����

�� 1.1 ������ABCD ���� A ���� a1, a2, a3 ��
������

������

A

B

D

C

a1

a2

a3

E

F

���

A2 − 2a3A − 4a1a2 = 0.

����� BE = x,EC = y,DF = a, FC = b��

A + (a + b)(x + y) = 2A = 2(a1 + a2 + a3) + by

�

A + ax + ay + bx + by = (a + b)x + a(x + y) + by + 2a3.

���

A = ax + 2a3.

�

A2 = axA + 2a3A

= x(a + b)a(x + y) + 2a3A

= (2a1)(2a2) + 2a3A,




A2 − 2a3A − 4a1a2 = 0.

�
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�� 1.1 ������� A �� a1, a2, a3 ���������

x2 − 2a3x − 4a1a2 = 0

����

1.2 Monge ��

�� 1.2 	��
�� A2, A3 ���� OA1A4 � A1A4 ������	��
�

� A1, A2, A3, A4 ���������	��
�� x1, x2, x3, x4 ��������

���

O

����

A1 A2 A3 A4 x1 x2 x3 x4

���� ����

A1 A2 A3 A4

�����������

�OA1A2�OA3A4 + �OA2A3�OA1A4 = �OA1A3�OA2A4;

A1A2 · A3A4 + A2A3 · A1A4 = A1A3 · A2A4;

(x2 − x1)(x4 − x3) + (x3 − x2)(x4 − x1) = (x3 − x1)(x4 − x2).

�����	� �OA1A2 = p,�OA2A3 = q,�OA3A4 = r�����������

�����

pr + q(p + q + r) = (p + q)(q + r)

�������������������

������������ �!����

� × �
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����������	������ �
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�� 1.3 	 α, β, γ ���������������

sin α sin γ + sin(α + β + γ) sin β = sin(α + β) sin(β + γ).

�������
���	���
�

����� �� 1.2 ��	�� ∠A1OA2 = α,∠A2OA3 = β,∠A3OA4 = γ����

�OA1A2�OA3A4 + �OA2A3�OA1A4 = �OA1A3�OA2A4
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�������	

1
2
OA1OA2 sin α · 1

2
OA3OA4 sin γ

+
1
2
OA2OA3 sin β · 1

2
OA1OA4 sin(α + β + γ)

=
1
2
OA1OA3 sin(α + β) · 1

2
OA2OA4 sin(β + γ).

������� 1
4OA1OA2OA3OA4 �	

sin α sin γ + sin(α + β + γ) sin β = sin(α + β) sin(β + γ).

����� �����"�����"�����	

sin α sin γ + sin(α + β + γ) sin β

= −1
2

cos(α + γ) +
1
2

cos(α − γ)

− 1
2

cos(α + 2β + γ) +
1
2

cos(α + γ)

=
1
2

[cos(α − γ) − cos(α + 2β + γ)]

=
1
2

[
−2 sin

(α − γ) + (α + 2β + γ)
2

sin
(α − γ) − (α + 2β + γ)

2

]

= − sin(α + β) sin(−β − γ)

= sin(α + β) sin(β + γ).

�

�� 1.4 (Monge ��) � A0A1A2A3A4 �#����� πij(1 ≤ i, j ≤ 4) 
���

� A0AiAj ������

π12π34 + π14π23 = π13π24.

����� ∠A1A0A2 = α,∠A2A0A3 = β,∠A3A0A4 = γ�� ��
������

�	

π12π34 + π14π23

=
1
2
A0A1 × A0A2 × A0A3 × A0A4 [sin α sin γ + sin(α + β + γ) sin β]

=
1
2
A0A1 × A0A2 × A0A3 × A0A4 sin(α + β) sin(β + γ)

= π13π24.

�

1.3 �������

� A0A1A2A3A4 �#������� A4A0A1 ���� a0� A0A1A2 ���� a1�

A1A2A3 ���� a2�A2A3A4 ���� a3� A3A4A0 ���� a4�
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A0

A1

A2 A3

A4

������� A0A1A2A3A4 ������� a0, a1, a2, a3, a4 ���� �����

�����������

�� 1.1 	� A ���� A0A1A2A3A4 ����	� c1, c2 ��

c1 = a0 + a1 + a2 + a3 + a4;

c2 = a0a1 + a1a2 + a2a3 + a3a4 + a4a0,

���� A0A1A2A3A4 ��� A ��������

A2 − c1A + c2 = 0.

����� πij(1 ≤ i, j ≤ 4) 
���� A0AiAj �����

π12 = a1;

π34 = a4;

π14 = a0;

π23 = A − a1 − a4;

π13 = A − a2 − a4;

π24 = A − a1 − a3.

� Monge ���

a1a4 + a0(A − a1 − a4) = (A − a2 − a4)(A − a1 − a3),

���

A2 − c1A + c2 = 0.

�
ǱǱ
��
������	����

A0A2A3, A1A3A4, A2A4A0, A3A0A1, A4A1A2

������

a, b, c, d, e,

����� A0A1A2A3A4 ����������� a, b, c, d, e ���������

���
���
���
�����
�������$����������

��
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��
�

� ��������� A �%���
����������� a1, a2, a3 ���

���������

a1 a2

a3

��

a1(A − a1) = a1a2 + a2a3 + a3a1.


 ������������� A��������� a1, a2, a3�

a1

a2
a3

�� A, a1, a2, a3 ����
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